MnuabkKa MWMHBL

liTynep

YIJIOTHEHME PEe3MHOBOE

YIJIOTHEHME PEe3MHOBOE

[lpokJlamka KapTepa

BuHT Mbx25

Ne ApTHUKYI HamMeHOBaHME Koxn
1* [5200-001 Ounmunp (1,33-36) 1
2 1451801003 KoseHO pesmHOBOE 1
3 1451801002 [IpokJjlamka TEeIJIOM30JIATopa 1
4 BuaT M5x10 2
5 1451801005 BcTaBka TeJIoM30JISTOopa 1
6 451801006 Crorka kapbropaTopa 1
7 BuuT M5x14 2
8 1451801008 dyaHel] kapbopaTopa 1
9 1451801009 [IpokJylamka KapbopaTopa 1
10 [IpokJjladka LMJIMHIPA 1
11 Bunt umiamHipa M5x20 4
12 1451801012 Bonr rayumTessa M5x83 2
13 1451801013 Tarka naymmTeys M5 2
14 1451801014 T'nymmrens 1
15 ByuT M5x10 2
16 451801016 [IpoxkJjlamka IJIyWUTEJIS 1
17 1451801017 Crovika TIylmMTesis 1
18 1451802033 KapTep 1
19 MlrudT 3
20 HomumnHmk 6202 2
21 Konbuo cromnopHoe @35 1
22 1451801022 CanpHmk 15x35x4.5 1
23 1451801023 CanpHmk 15x28x4.5 1
24 2
25 1
26 1
27 1
28 1
29 5
30 1
31 1
32 1

IyaHT TONAMBHEM 3x7x105
3axmM
[lpokianka
MonmeJsib
I[Inna enHasi 6eHBMHOBAS
. CS5018

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA |

Page 1




Ne ApTHUKYI HamMeHOBaHME Koxn
33~* [MopmeHs @4 3MMm 1
34% Konbuo nopmHeroe @43x1,5 2
35% [Taney nopuwHsa J11x34 1
36% Kosnbpllo CTONOPHOE 2
37 1451802037 Hommmnuuk @11x@15x12.3 1
38 1451802038 Maba 2
39 1451802039 KosenBag 1
40 |1260-026 lImoHKa MaxOoBUKA 1
41 |4500-006 HaGop npokjamok 1
* |HR-1067 Iunmuuop B cbope (1,33-36)
Mogpernb
[Inna nenHas 6eHB3MHOBAS CS5018

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 2




Ne ApTHUKYI HamMeHOBaHME Koxn
1 1451802001 MaxoBUK 1
2 Cobauka 2
3 [IpyxunHa 2
4 larba 1
5 |790-038-018 Tarika M8 1
6 llarBa 1
7% 1451802008 MarTHEeTO 1
15 BuHT M5x20 2
16 Tpoc rasa 1
17 451802017 BeIKJIIOUATENb 3aXUT'aHUS 1
22 |PRT7Y Cseua RCJ-7Y 1
23 [InacTuHa 1
24 ByuT M4x10 2
25* 1451802020 CrapTrep B cbope 1
31 |241-581 lnyp crapTepa 1
32 |PEOS Pyuka cTapTepa 1
37 1451802014 Koxyx MaxoBMUKa 1
* 14500-003 MarTHETO

* 14500-004 Craprep B cbope

Mogpernb
[Inna nenHas 6eHB3MHOBAS CS5018
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

| Page 3




Ne ApTHUKYI HamMeHOBaHME Koxn
1 1451803001 Pyuka-nyra 1
2 BuHT M5x19 4
3 1451803008 Pyuxka-6ak (3,13,14) 1
16 (451803012 YJIOoBUTENb LEenu 1
17 BuuT M5x14 1
18 1451803010 AMOpTHU3ATOP 2
19 BuHT M5x16 4
20 Kpelllka amMopTu3aTopa 3
21 1451803007 [IpyxunHa 1
22 Brynka 4
23 1451803005 AMOpPTHU3ATOP 2
24 Boat 2
25 Kprlika amMopTmUsaTopa 2
Mogpernb
[Inna nenHas 6eHB3MHOBAS CS5018
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 4




Ne ApPTHUKYZ

HamMeHOBaHME

=
o)
=

451804001

HediiexTop

BuHT Mbx14

Kpriika o¢uisTpa

1
2
4 1451804005
5 |451804006

T'arka-0Oapaliek

11 451804012 OUIIBTP BO3AYWHBIN

13 HanpasJssomas

14 Hanpassagwowasa

15 1451804010 Cromka ounbTpa

16 YrnJjoTHeHMue

17 BonT kapbopaTopa M5x52

18 1451804018 Tara
19 (451804019 YIJoTHEeHUE
20 Hanpassawomas

21 451804021

Tara rasa

22 1451804023

KpoHwTenH

23 1451804024

llnraHT TONJMBHEM B cOope

24 1451804025

IJIaHT TOIJIMBHEIM

26 |TJ-GM-501

OUIBTP TONJIMBHEIM

27 1451804028

[IpoBka OeH300aka

Kianan 6eHz00aka

34* 1451804014

KapbwopaTop

A I I I I e e I R S R Y I S Y S NS

* |14500-005

KapbwopaTop

28

MonmeJsib
I NHasi O0eHBMHOBAA
a nenxas 6 CS5018
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 5




19

21

Ne ApTHUKYI HamMeHOBaHME Koxn
1 1451805001 [IlpoBbra macobaka 1
4 1451805004 linaHnr Macyo3abOopPHEM 1
5 OUIIBETP MacCJISHBIN 1
6 (451805006 linaHT MacJonoIaumn 1
7 Knanax 1
8 BcTarBka 1
9 Baxmum 1
10 451805011 MacJjioHacoc 1
451805012 UepBakK MacJioHacoca 1
11 YIJIOTHEHUE 1
12 BuuT M4x14 2
13 1451805015 Kprlika MacJjioHacoca 1
14 BuyuT M4x14 3
15 451805016 llarBa 1
16 (451805017 CuenJieHue 1
19 1451805019 HomumnHmk 12x15x14 1
20* 451805022 Yamka CLeIJIeHUsS 1
20 |1451805022-1 BapabaH-3Bes3nouka 1
21* 1451805023 3Bes3mouka 1
* 14500-002 Yamka CLeIJIeHUS
* |HR-HO079 3Besnodka
Mogpernb
[Inna nenHas 6eHB3MHOBAS CS5018
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 6




Ne ApTHUKYI HamMeHOBaHME Koxn
1 1451806001 Ynop 3yOuaThit 1
2 BuuT M5x14 2
3 1451806003 MMTOK NIIMHE 1
4 BuaT M4x10 1
5 HanpaBisgomas MMHE 1
6 [381602059 T'avika WWHB M8 2
7 1451806007 TopMO3 Lenu B cHope 1
10
11 451806010 Haraxurens B cHope 1
12
13 1451806013 MMTOK NIIMHE 1
14 1451806014 Hakmanka
35
Mogpernb
[Inna nenHas 6eHB3MHOBAS CS5018
Technical department Assembly drawing
31 Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 7




